Determine whether the following sequences are convergent or divergent.

(1) {a, =2n/(3n+1)} ¢
(2) {a, =cosnw} ©
(3) {a, =nsin(1/n)} ¢

A. (1) convergent (2) convergent (3) convergent
B. (1) divergent (2) convergent (3) convergent
@ (1) convergent (2) divergent (3) convergent
D. (1) convergent (2) convergent (3) divergent
E. (1) convergent (2) divergent (3) divergent
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Test the following series for convergence:

n=1
— 2
(I1) ;::l n+4 3"
= 5-2n
am 2=

. I is divergent; II and III are convergent.

. I and II are convergent: III is divergent.

. I, IT and III are divergent.

A
B
C. 1 and III are divergent; II is convergent.
D
E

. I, II and III are convergent.
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00
The series E

n=1
Alternating Series Estimation Theorem what is the smallest number of terms needed to

find the sum of the series with error less than 1/157
oA

n" . . . .
>— is convergent by the Alternating Series Test. According to the
n

Al
B. 4
C.5 ‘e""l £ tha wegntude of nevt term Cient wa €hpqy

D. 2 Ow«‘ )
@ 3
{ (")‘ \

T el —o

\
" n? % -ﬁ- \




we ton 6o Rl for n: L ¢

"> fis < bigpe then 2, less ehan ¢
"ot Omg‘d\

fo NS N ek $oe ¢rne

L
T

1 1Y M’M"?ﬁ“\l
ona "‘{-OVQ c‘t-bn:j




For which values of ¢ i

A
B
C
D

. All values of c.
el < 1.
el < 2.

el > 2.

@ No values of c.
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Find all values of p such that the series Z ( T ) converges.
k=1
A.p>8
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8. Which of the following series converge conditionally?

y Zf,i;?li Lo given $ aye Converp s
ggn 5 n® —n+l bnt 2 .ak' ‘fNP’

W Z n =N e“"r‘e; (-()t*

—— “ﬂv‘

kv K
@Zn xln(lnn) 2 t

m—— *‘ .
KI.\ k Y

t-)”
N e n“' - —.‘. ¢ mm‘am.'?

\

(-y* "
‘\Qk‘ é (-\) . eC) -5
" e\ " L8 e
cony, Cany,

by AL, Seway €yt Poteries cfue tatrs aliolibp value




C.

‘\'M (-u"n o ol . -
"o * de¢fnt ¢o vnrs,o.

D. Z(_()'\e-" = 2 C—\)" Conv. ?

? qes, 53 6t o el Ctd
é —‘— hﬂ\l’
en . ﬂt:

= 2 (%Y‘ o0, lawes W/ rg_é<,

Conv. abnlu
E t-1y" K
. LT — (X)) v. .
L (leton) " "j oL, Fawes o4
§ e, o
Nﬂv‘ NQ‘

la Llatemr)




lv\.('\) 4L n ¥
latn)
?a
w(tata)) ¢ latn) .
{
ln Cla ten) ) laln) "
2 —~! ? é S > 2 _‘
lalln (n)) l“(,‘) =
A\
div. o




